Excel Algebra
For each of these screenshots:
1. Write down the calculation that will be done using proper mathematical symbols
(eg +, — X, +).

2. Work out the number that will be shown in the cell.

A B C D E A B C D
1 6l 7l 9| 100] | 1 ] 6l 7| 9|
| | | | | | | | | | | | | | | |
2 10 2 10
3 |:C:+D1+E1 3
4 4] |=u:;+E.1-E1
5 5
A B C D E A B C D
1 6 7 9 100 1 Bl 7l 9|
| | | | |
2 | 10]=42%81 2 10,
3 5 3 [ 51 |:A3*D1—C1
4 6 4 6
5 2 5 2
A E C D E A B C D
1 ﬁl ?l 91 100 1 5 7 91
2 10, 2 10,
3 [ 51 |=ﬁ3*l{D1—El} 3 [ 51 E1/A3 |
4 6 4 6
5 2 5 2
A B C D E A B C D
1 6 7 9 100 1 6 7 9
I | | | | |
2 10| 2 10
| |
3 |I 5 =ADAAS 3 5
4| 6, 4 6
5 | 2| 5 | 2| |=5um|{ﬁ2::“«5}
A B C D E A B C D
1 6l 7 3 100| 1 | Bl 7l 9
| | | I | | | | | |
2 10 2| 1ﬂl
3 5 3 | 51
4 6 4 6,
5 2 |:praduct{c::5:} 5 [ 2| |=ﬂ-.2f{£~5*.¢'«5}+l31—t:l




Excel Algebra SOLUTIONS

For each of these screenshots:
Write down the calculation that will be done using proper mathematical symbols

1.

(eg +, —

’ XI +)'

2. Work out the number that will be shown in the cell.

A E C D = A B C D E
1 6l 7l g 00| | 1 | 6 7 9| 100]
| | | | | | | | | | | | | | | | | |
2 10 2 10
3 |:C:+D1+E1 3
4 4] |:CL+B1—E1
5 5
749+ 100 =116 74+ 6—100 = —-87
A B C D E A B C D z
1 5 7 9 100 1 al_ ?1 91 100
2 10|=A2*B1 2 10,
3 5 3 [ 51 |=A3*D1—C1
4 6 4 6
5 2 5 2
} 10 X 6 = 60 5x9—7=38
A B C D E A B C D E
1 6l 7l 9 100 1 6 7 9 mﬂI
2 10, 2 10,
3 51 |=ﬁ3*{D1—El} 3 [ 51 =£1/A3
4 6 4 6
5 2 5 2
5(9—-7)=10 100
100 = 5=20 or TZZO
A B C D = A B C D =
1 | 6 7 9 100 1] | ] 7 9 100
2 101 2 10
3 5 |:ﬂ2“.&5 . 3 5
4 6, 4 g
5 2| 5 | 2| |:5um|[ﬂ2::“«5}
102 = 100 10+5+6+2=23
A B C D E A B o D E
1 E.I_ 7 9 1001 1 I_ Bl ?l 9 100
2 10 2| 101
3 5 3 | 51
4 ) 4 6,
5 2 |=praduct{c;:z:} 5 [ 21 |:A2j{a3*m5}+a1-c1
X 9 X = 10
7x9x100 = 6300 10+-(5%x2)+46—-7=0 or m+6—7=0




